## **School of Management Studies**

## Establishment of *state-of-the-art*Computer Laboratory

**Duration of the project: 01 Year** 

**Coordinator: Head** 

**School of Management Studies** 

- School of Management Studies invites alumni to join in the establishment of a state-of-theart Computer Laboratory.
- The computer laboratory will serve as a central hub for
  - Technological innovation, research and learning for students, faculty and staff.
- It will serve the purpose of
  - Enhanced Learning Experience by providing access to cutting- edge technology and software.
  - Skill Development through workshops, seminars and training sessions.
  - Research Opportunities in the form of platform for collaborarive research projects and
  - Career Readiness by enhancing proficiency in use of technology and software tools relevant to field of study.

## Budget

S. No.	Item	Unit	Price/Unit	Amount (Rs.)			
Infrastructure							
1.	Chairs	<b>75</b>	3,000/-	2,25,000/-			
2.	Tables	<b>75</b>	6,000/-				
3.	Aluminum Partition			50,000/-			
4.	AC (Split) 2 Ton	4	50,000/-	2,00,000/-			
Networking							
5.	Cat 6 Cable (MTR)	6000	21	1,26,000/-			
6.	D-Link Port switch (Unmanaged)	4	6,629/-	26,516/-			
7.	Input/Output D-Link	75	110	8,250/-			
8.	D-Link Patch Panel	4	2,297/-	9,188/-			
9.	Patch Cord (1 MTR)	75	110/-	8,250/-			
10.	Patch Cord (2 MTR)	<b>75</b>	125/-	9,375/-			
11.	Rack 9U (with accessories)	2	4,375/-	8,788/-			
12.	Rack 12U	1	5,144/-	5,144/-			

13.	Face Plate	75	120/-	9,000/-
14.	<b>Networking wire Batton</b>			10,000/-
<b>15.</b>	Electricity wiring			68,000/-
16.	Computers	75	45,000/-	33,75,000/-
17.	Printer with Scanner	2	20,000/-	40,000/-
18.	UPS (20KVA)			35,000/-
19.	Projector	1	50,000/-	50,000/-
20.	Fire Extinguisher			1,00,000/-
	Total Cost			50,02,511/-